
35	+	3	=	���� 86	-	4	=	���� 99	-	8	=	����
			

	5	+	3	=	���� 	6	-	4	=	���� ���-���	=	����

68	-	4	=	���� 23	+	6	=	���� 57	-	5	=	����
			

���-���	=	���� ���+���	=	���� ���-���	=	����

45	-	3	=	���� 72	+	7	=	���� 94	+	5	=	����
			

���-���	=	���� ���+���	=	���� ���+���	=	����

39	-	3	=	���� 22	+	8	=	���� 87	-	3	=	����
			

���-���	=	���� ���+���	=	���� ���-���	=	����

35	+	3	=	���� 86	-	4	=	���� 99	-	8	=	����
Kleine	Aufgabe? Kleine	Aufgabe? Kleine	Aufgabe?

68	-	5	=	���� 23	+	4	=	���� 57	-	6	=	����
			

45	-	4	=	���� 79	-	7	=	���� 94	+	6	=	����

54	+	3	=	���� 81	+	7	=	���� 26	-	3	=	����

48	-	4	=	���� 73	+	4	=	���� 37	-	3	=	����

62	+	4	=	���� 21	+	6	=	���� 75	-	4	=	����

49	-	3	=	���� 72	+	7	=	���� 64	+	5	=	����
			

Rechne	zuerst	die	kleine	Aufgabe:

Rechne	zuerst	die	kleine	Aufgabe	im	Kopf:

(c)	Grundschul	Universum

(c)	Grundschul	Universum


